Simulation settings used

1000 pi+ events
6 GeV/c momentum
Theta = 30 deg
Phi=0
Magnetic field off
No track smearing
Same geometry for hpDIRC
- Only 1 MCP and 1 pixel for Standalone and Fun4All
No QE for sensors
No photon transport efficiency
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DIRCBarHits.time lead_time
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ePIC | Standalone comparison — photon time

DIRCBarHits.time PrtEvent.fHitArray.fLeadTime
h1 6000 — h1
E Entries 1096802 - Entries 913810
C Mean 42.91 — Mean 43.43
80001 Std Dev 12.66 5000/ Std Dev 13.13
E Integral  1.072e+06 r Integral 8.923e+05
5000 — C
= \ 4000 —
4000 - ; C ;
c W ePIC - Global time sooor \ Standalone - Global time
F - |
3000(— C
- 2000
2000 — C
1000[— NK 1000~ \‘W.\
- W/MAWW‘WW“ [ WMWMWMW oo
07\\\\\\\\\\\\M\\\\\\\\ | L \\\\“M‘MTMTW%AM_LL‘l;‘L; 07\\\\\\\\\ \\y”vWV\\\\\\\\\\\\\\\\\\\\\\ Sl TR ST
0 10 20 30 40 50 60 70 80 90 100 0 10 20 30 40 50 60 70 80 90 100
DIRCBarHits.time PrtEvent.fHitArray.fLeadTime
_ . htemp [ htemp |
10° 5 Entries 1096802 10° = Entries 913810
Mean 47.87 Mean 45.81
Std Dev 141.8 Std Dev 24.27
1 05 |ntegra| 1.097e+06 1 05 Integral 9.138e+05
10 10* =
10? E 102 E
10 0=
S L | _
E AN \H (- T P 1 Y I T T | 1 E LT m ‘ H ‘H ‘ H m L Ll H L
0 2000 4000 6000 8000 10000 12000 14000 16000 0 1000 5000 3000 2000 5000 5000

DIRCBarHits.time 4 PrtEvent.fHitArray.fLeadTime



@DIRCBarHits.size()

Number of hits | event
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Next steps

* Find the source(s) for events producing > 2000 hits in ePIC simulation
* Check physics list

* Reproduce in standalone simulation
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